
f̂(ω) =
1

2π

∫ ∞

−∞
f(x)e−iωx dx = F(f)

f(x) =

∫ ∞

−∞
f̂(ω)eiωx dω = F−1(f̂)



G(x, t) =

∫ b

a

f(x, t, ω) dω



G(x+ h, t) =

∫ b

a

f(x+ h, t, ω) dω

G(x, t) =

∫ b

a

f(x, t, ω) dω



G(x+ h, t) =

∫ b

a

f(x+ h, t, ω) dω

G(x, t) =

∫ b

a

f(x, t, ω) dt

G(x+ h, t)−G(x, t)

h
=

∫ b

a

f(x+ h, t, ω)− f(x, t, ω)

h
dω



G(x+ h, t)−G(x, t)

h
=

∫ b

a

f(x+ h, t, ω)− f(x, t, ω)

h
dω

Take the limit as h → 0

∂G

∂x
=

∫ b

a

∂f

∂x
dω

∂

∂x

∫ b

a

f(x, t, ω) dω =

∫ b

a

∂f

∂x
(x, t, ω) dω



Let u = u(x, t) be the solution of the wave equation:

∂2u

∂t2
= c2

∂2u

∂x2

û(t, ω) =
1

2π

∫ ∞

−∞
u(x, t)e−iωx dx

u(x, t) =

∫ ∞

−∞
û(t, ω)eiωx dω



u(x, t) =

∫ ∞

−∞
û(t, ω)eiωx dω

∂u

∂t
=

∫ ∞

−∞

∂û

∂t
(t, ω)eiωx dω

∂2u

∂t2
=

∫ ∞

−∞

∂2û

∂t2
(t, ω)eiωx dω



u(x, t) =

∫ ∞

−∞
û(t, ω)eiωx dω

∂u

∂x
=

∫ ∞

−∞
iωû(t, ω)eiωx dω

∂2u

∂x2
=

∫ ∞

−∞
−ω2û(t, ω)eiωx dω



∂2u

∂t2
=

∫ ∞

−∞

∂2û

∂t2
(t, ω)eiωx dω = F−1

(
∂2û

∂t2

)
∂2u

∂x2
=

∫ ∞

−∞
−ω2û(t, ω)eiωx dω = F−1

(
−ω2û

)

F
(
∂2u

∂t2

)
=

∂2û

∂t2

F
(
∂2u

∂x2

)
= −ω2û



Solve the wave equation:

∂2u

∂t2
= c2

∂2u

∂x2

where u(x, 0) = f(x) and ∂u
∂t (x, 0) = 0

Take the Fourier transform of both sides of the equation:

F
(
∂2u

∂t2

)
= F

(
c2

∂2u

∂x2

)

F
(
∂2u

∂t2

)
= c2F

(
∂2u

∂x2

)



F
(
∂2u

∂t2

)
= c2F

(
∂2u

∂x2

)
∂2û

∂t2
= −c2ω2û

∂2û

∂t2
+ c2ω2û = 0



∂2û

∂t2
+ c2ω2û = 0

û(ω, t) = A(ω) cos cωt+B(ω) sin cωt



∂2û

∂t2
+ c2ω2û = 0

û(ω, t) = A(ω) cos cωt+B(ω) sin cωt

û(ω, 0) = A(ω)



∂2û

∂t2
+ c2ω2û = 0

û(ω, t) = A(ω) cos cωt+B(ω) sin cωt

û(ω, 0) = A(ω)

û(ω, t) =
1

2π

∫ ∞

−∞
u(x, t)e−iωt dx

û(ω, 0) =
1

2π

∫ ∞

−∞
u(x, 0)e−iωx dx =

1

2π

∫ ∞

−∞
f(x)e−iωx dx



û(ω, t) = A(ω) cos cωt+B(ω) sin cωt

∂û

∂t
(ω, t) = −cωA(ω) sin cωt+ cωB(ω) cos cωt

∂û

∂t
(ω, 0) = cωB(ω)



û(ω, t) = A(ω) cos cωt+B(ω) sin cωt

∂û

∂t
(ω, t) = −cωA(ω) sin cωt+ cωB(ω) cos cωt

∂û

∂t
(ω, 0) = cωB(ω)

û(ω, t) =
1

2π

∫ ∞

−∞
u(x, t)e−iωx dx

∂û

∂t
(ω, t) =

1

2π

∫ ∞

−∞
−iω

∂u

∂t
(x, t)e−iωx dx

∂û

∂t
(ω, 0) =

1

2π

∫ ∞

−∞
0 dx = 0 so B(ω) = 0



û(ω, t) = A(ω) cos cωt where A(ω) = F(f(x)) = f̂(ω)

u(x, t) = F−1(û(ω, t))



û(ω, t) = A(ω) cos cωt where A(ω) = F(f(x)) = f̂(ω)

u(x, t) = F−1(û(ω, t))

u(x, t) =

∫ ∞

−∞
û(ω, t)eiωx dω =

∫ ∞

−∞
f̂(ω) cos cωteiωx dω



u(x, t) =

∫ ∞

−∞
f̂(ω) cos cωteiωx dω

=

∫ ∞

−∞
f̂(ω)

1

2

(
eicωt + e−icωt

)
eiωx dω

=
1

2

∫ ∞

−∞
f̂(ω)ei(x+ct) dω +

1

2

∫ ∞

−∞
f̂(ω)ei(x−ct) dω



f(x) =

∫ ∞

−∞
f̂(ω)eiωx dω

f(x+ ct) =

∫ ∞

−∞
f̂(ω)eiω(x+ct) dω

f(x− ct) =

∫ ∞

−∞
f̂(ω)eiω(x−ct) dω



u(x, t) =

∫ ∞

−∞
f̂(ω) cos cωteiωx dω

=

∫ ∞

−∞
f̂(ω)

1

2

(
eicωt + e−icωt

)
eiωx dω

=
1

2

∫ ∞

−∞
f̂(ω)ei(x+ct) dω +

1

2

∫ ∞

−∞
f̂(ω)ei(x−ct) dω

=
1

2
f(x+ ct) +

1

2
f(x− ct)


